Math Questions Bank

primary S-secondterm

FINAL REVISION

Question 01 Choose the correct answer

(D The smallest like denominator of % and % I8 Gsossannaniseiitis
@) 18 ®) 6 © 3 @ 2
@ The simplest form of form of % I8 sosienenssviveises
1
® 3 ®: O oF-
@ Estimate the sum of = + L using benchmarks, ..........c......
25 1
1 ® 1 © : @ o
@ @ %x Sr=thiin Bl
5 12
®: ® 1 ® 3 ok
@ @ 3% X SO =liresitesenees
1 10
@ = ® s © 17 @ B
@ It is impossible to draw a triangle with two ............... Angles .
Acute @ Obtuse @ right @ both b and ¢
@ the measure of an acute angle may be ......cccccvvennees s
(a) o° (®) 40° © oo @ 170°
] 4 4 4 2
: 1—14 X oseneaii = H + E :— E +E
(@) 7 @ 33 @ 4 @ 1
@ I %} X b =% + %:E ,thenb=....ccccc...
= 3= © s @ 25
7% hours = ....cccuuee. ROUES + wisssiusinsinne minutes
1
@ 7.30 ®7’E @© 7.1 @ 7,45
® the opposite triangle is .............
@ right @ Obtuse @ acute @ otherwise
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20 2
® 5 © 2 @ ~
25 2
® =2 © 24 =

Acute l @ Obtuse @ right | @ both b and ¢
is

Volume of IS cressivvenennid Cube units .
3 ® 4 © s @ 10

the solid which has 5 vertices and 8 edges is ...............
Cone @ Cube @ cuboid @ Pyramid
the measure of an acute angle .......... the measure of an obtuse angle

< @ > @ = @ otherwise
@ 8+e=40 ,thene=.....c.......

1
40 5 -
@ 40 @ @ 5
8 2. 1 : 5
5 + c s about 1 > the estimation is ................

overestimate @ underestimate
@ 7 _ BNE
9 -49 T asssssssssssssssnan 5 10
= = 1 ===
® - © ;
@ @ m(<A)=40°,m(<B)=70°,m(<C)=70°,thenitisa.....cceuee.... triangle
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6
® 3 22 © 2 @ ;

hours =............. hours + ..vcvevvvenennn minutes

© s @ 4,2
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@ @ the opposite triangle is
@ scalene @ Equilateral © isosceles @ otherwise
@ Data can be represented by ..................
Line plot @ Pie graph @ pictograph @ All'of thiem
! ....................... Triangle has 2 acute angles and 1 right angle .
right @ Obtuse @ right @ otherwise
@ the measure of an obtuse angle is ................... 90°
@ < @ > © = @ otherwise
@ the number of horizontal layer is ............ '
® 3 ® * © s @ 10
@ the cube has .......... Faces .
® ® s ® o @:
@ 18 months = ............... Year
18 1
— = 3 All of them
® & @  © ®
@ the simplest form of 4 = S s xs
3
4~ i 42 2
25 -
@ 3 is equivalent to .....c...ecvvuunenn
1
1 = 1 8
2 ® 33 i @
5
@ 3 c is equivalent to .....cceevennnne.
5 1 1 23
27 @ LT 3z @ %
3 - is equivalent to .........ceueens
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m(<A)=90°,m(<B)=60°,m(<C)=30°,thenitisa ....cccecur..... triangle .
right @ Obtuse @ acute @ otherwise
1 1 1
8 P +3 T = 943 g T e

1 1 5 =
&) 123 13 CoF 6

the volume of this solid is ................ Cube units . BEEEH
(@) 12 ® 3 © 2 @ o
@ ...................... Triangle has 2 acute angles and 1 obtuse angle .
right @ Obtuse @ right @ otherwise
@ the measure of a right angle is ................... &
(@) o (®) 40° © o90° @) 180°
Gd By
2 5 g e
124 2 1
“oe ® 2 o © 3 To
@ 1 2 3 1
@ E XE X Z X covvsosssse —Z
4 ® 2 © 3 @ 1
@8% +3%=9+3+%- ............
1 1 5 1
125 13 © . @ ;
@ @ g x 3 =4 x7
8 ® * © 3 @ °
Ly M
< @ > @ = @ otherwise
m(<G)=110°,m(<D) =35, m (<F)=35° thenitisan ................ triangle
right @ Obtuse @ acute @ otherwise
@ 4 % + 3% is estimated as .......ccvvinnennns
1
4%+4 ® 1+; ©® 4+% @31+4%
Length x width x height = ....cccociiiiiiininnn.
@ Area @ Perimeter @ volume @ Base area
e 000 ety i e
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5 1 _
@ W= Ve = g , then the value of mis ......ccvevvvvvnannnn
27 13 1 5
28 28 @ 4 @ 7
@ T + e =1 ,thenthevalueofeis......c.cceevrunnnns
8 1 5 5
® ® ; © = @ :
11 1 .
i - a = s then the value of a is c.ccuvvvnennnnnnnens
8 7 10 6
16 16 @ 12 @ 6
— i ivalent to .....eceeveveennne
@ =0 1s equivalent to

(®)
S|e
®
®
slS
®

1
@ 4 1z Years = ... YOS + cevassonvevsune months
1
(@) 4,2 ® 4, © 4,1 @ 4,12
@ ........................ Triangle has 3 acute angles and 0 obtuse angle .

@ right @ Obtuse @ acute @ otherwise

the measure of an obtuse angle may be .......ccccceuu... R

0° (®) 40° © oo @ 110°
7

OF~ ® s; © 1 @ 5

AB=BC =6.32 cm , AC is less than them , then itisan ................. triangle .

scalene @ Equilateral @ isosceles @ otherwise
the volume of this solid is ................ Cubes. I
®) 4 © s @ 10

3
@) 270 ® 90 ©) 360 @) 180

the sum of the measures of angles around at a point is equal ............ °
1 4 4
9 = = =z
® ® s 8% :
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45 MinUtes = ...scicssnnnns Hours
1 1 3
o= = 1 e,
2 ® . © @
base area x height = ......ccccevvvvennnnnns
Area @ Perimeter @ volume @ Base area
@ ................... Triangle has 3 different sides .
scalene @ Equilateral @ isosceles @ otherwise
@ U is bounded by an arc and two radii .
Height @ Pie graph @ sector @ @ Bar graph
@ the colored part represent ............ Of the circle .

% ®) o5 ©
@ @ 75 MINULES = cucescnsisesnanss Hours

% @ 1% @ 1 I
@ Which is equal to 6 x%

. 2 @3)(% © ISx% @allofthem

.5+—+—~ ...................
@ s ® @ @
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+ 3. = 1+
@ y 7 = 1 e
£ 1 1 1
. ® n © 3 @ =
> 1
12 " = ssssssssssssns

“WoNni= 4+
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0 @o @o-hlr- °ulw

®
®
©
®

% YEAL = iicosntsociuts Months
5 ® 6 © 2 @ 1
@ 8% + 3 15—2 is estimated as .....cevvienninnnnns

(@) 8%-{-3 ®8+3% © 0+% @8%+3.5
1

2 ;
(@) 112 11% 4% @5

volume =+ height = .................
Height @ Width @ volume @ Base area

................... Triangle has 2 same sides and 1 different .

scalene @ Equilateral @ isosceles @ otherwise

G 15+ =
4 16 19
@ox O3 @ ! 5
m - 7E = 3= ,thenthe value of mis........c.ecvvuunnn.
. 105 3% @ 4 @ 4%
a + GE = 91 , then the valueof ais ...ccvvevvennnnnene.
3= ® 152 © zs @ 16

1 1
@ 5 T~ e = 3; , then the value of e iS ....ccevvevvennnnns
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@ volume + ( length x width ) = .......cceeennes

(a) Height @ Width @ volume @ Base area

| =
w
N w

2 7 - .
E + E is estimated as ..ocoevvveiieiennnnns
| 0 ! 1 1
St = = 1+1
@ 3+3 ® ;+1 © o+; O]
E +L' ti ted
. 200 is estimated as ..ooeveerveirrnnnnnns

(a) %+% @ ,:—_-5-1 0+% @ 1+0

~J
|
£
&
i
8
2
&
z
~J
g
[}
=
=
=
g

volume + ( length x height ) = .......ccoeennn.
Height @ Width @ volume @ Base area

the measure of this central angle is ............ ®
@) 360 (®) 270 ®© 90 @) 180
1 6
- + 5 is about 1 , the estimation is................

@8 overestimate @ underestimate
@ the measure of an obtuse angle .......... the measure of a right angle

& @ > @ = @ otherwise
% VeAr = cevverenennnnns Months

5 ® s © 2 @ 1
. the angle whose vertex is the center of the circle is called .............. angle .

Centeral @ Circular @ right @ Straight
: SCE :
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12
3 ~4 is slightly greater than 4 , then c can be .......... .

@ un ® 9 © 13 @ 12

If the volume of a cuboid = 30 cm3 and base area = 15 cm2 , then it's height is ........ Cm
@ s @) 2 ®© 15 @ 150
!—g' 4 + l ......... 1 + 4
4 4
o < @ > @ = @ otherwise
% ROUL P sevisisvnsinnsy Minutes
12 (b 7 (© 5 @ 1
g + % isabout 1 , the estimation is .........cc.cu..
overestimate @ underestimate
1 8
—
® o ® 2 © 3 @ 1
1 3
Z 4= E = Ceemeeeeees e
7 4
O ® o © 16 =0
1 % daY =, Siisicassnns hours
24 @) s © 27 @ 2
E ............ + % = 24
1 6
1 © 36 @ oy

@ : 32 ° then m= ....ciccieucaee
1 8
o 32 ——
® ; © @
E. /N /. A is a circle divided into sectors .
Height @ Pie graph @ sector @ Bar graph
the measure of an acute angle .......... the measure of a right angle

< @9)>2 © = @otherwise

Estimate the difference of Tl using benchmarks, ...............

@ ! ® * ® o @1
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4 2
@ The LCM of denominators of ; and E 16 e i

7 ®) 35 © s %
90 minutes =....ccevvunnn hours
1

50 @%

vi|u
-

@ otherwise
1

0 @ >
1

0 @ -

@ % @ 1_50 % @ all of them
1... ....... -0
1 10 2
5 @5 % @ o

®
®
@ @ @ @ G (Ve S o)

1 ® o
2 10
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®
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®
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®
®
®
o
0
®@
@
@
@
@9

the number of vertical layer is .........c........ l
@ 3 3 2
il Wilew X — = sesssssssssssssses
12 8 6
@ scalene triangle has 3 .......cccovivinane sides
| [ S— 1
= 4 - s 4=
8 8 2
2 3 2 e
8 X X 6 = sessssssssssssans
3] 100 6
— P 5 = = ssessssssssesssnsnes
100 © 7 12
2
@ 3— 5 = 5 Xiwssisoscsssenssses
c X X
@ 2 3=6
5 X = X ceescsscassssnssnnsnns
3 12
= = X T T suessessssssssssnsssssssnanse
2 24
the figure name is .......c.ceceeveevennnnns
3] LS
g Koo —
3] W .
B oooosshinbintin X o= =2
2 >
3 X cevcnssennnnnes = 12
Volume = ......... Xodshoins Kessvssces
8 5 _ 10
.................... x 6 — 24
! ............................ Triangle has 3 acute angles and 0 right angle .
@ = %X LB X 30 =isieiesiecs
5 10 em
if the volume = 1200 cm3 , then the missing dimension is ............. cm
?
3] 4 S I 7
= 11x .................. —11+11+11+11
3
3; - P = 1
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@ 3 % x % — /! o W - S A |- x%
@ @ 15 minutes = ..ccceevencencnnens Hours
@ @ ..................... minutes = % Hours
@4 TS I = B
@29) D% & =l
@ 34 % 5 =6+ caveecerersanne
@ Baos o, =4 %
@ 18 + % = 18 X cceessesns
the measure of this central angle is .................. o
@ B+ St et
11x ........... —11+11+11+11
1 1
@ @ d-:-E=E SENENE = vl
@ @ - n= — ,thenn=
. =Sr = essteenivnsuns
B 6:t=24 , thent=.......
@ E Any triangle has at least .............. Acute angles .
@ Volume of - IS cisvevsvenives Cube units .
@ ....................... Triangle has 3 acute angles .
@ % + % = it In simplest form
color % of the circle .
the measure of a right angle is .......cccceuvuaee. 90°
@ the sum of all decimals in one circle = ...............
@ the measure of an obtuse angle iS .......cccceeeuaenn. 90°
@ @ the triangle has ......... sides and .......... angles
@ The simplest form of form of 22—4 IS ceviivesaans
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the sphere has .......... vertex .

13]

= the measure of an acute angle is .........c..ceuuus 90°

@%x2.5= ..............

.................... is a flat surface of a solid figure .

@g X 04 = iesiisiii

@ ........................ Triangle has 3 equal sides .

volume =+ base area = ....cccceeeveennnnns

volume + ( width x height ) = ..........cceeeen.

2
3 Year= ..o Months

If the volume of a cuboid = 400 cm3, it's length = 10 cm , it's height = 5 cm, then it's

....................... is a part of a circular region .

the colored part represent ............ Of the circle e
1
Color = of the circle . @

1

8
7 E is equivalent to ......c.eeuvunnnnn

90 seconds =........... minutes

1
The smallest same denominator of Z and E 18 ianivaivnnnnamsaill

6
Estimate the sum of i + - using benchmarks, ......ccoceviiiiannnns

SROREGEORONIRORORORGEORGRORONORRORONONORORES)
=

4 2
The LCM of denominators of E and E IS sieaisiinnitiones
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g - % = veeeeeeressensnnens In simplest form
................ e =
@ ABC is an equilateral triangle where AB =4 cm , then AC = ....... And BC = .coveesss
g Tg T
2 1 )
@ R e = 5 , then the value of R is ....cccuueene.
. 2 = 1
@ % WORL = .osessssssisessese Months
@ 2 % Rours = aieiiasianiise hours + ...ccvvvvnnnnnnn minutes
24 months = ...cccevvviviennnnnnns Year
120 seconds = coicccvainaiveions minutes
3
@ E X 12 =N
@ 2 % X DuTitisiiiveetecsiiiscises
8 g - (Ml ys e ——"
@h.-2 8.
- 8 - 8 T assssssssssssass
color% of the circle .

TEELEL LR Answer the following
@ find the volume of this solid . -m
.......................................................................... g

20 ¢m

1 2
@ Mohamed bought a book by 3 of his money and a candy by o of his money and saved the

left money . What fraction of money does Mohamed save ?

3 1
@ Yara's garden consists of 3 poppies , i roses and flowers in the rest of the garden what

fraction of the flowers in the garden ?

-------------------------------------------------------------------------------------------------------------------
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2 3
Besan collected 6 = of honey . She gave his sister Sandy 3 " kg of them . How many

kilograms are left ?

5 3
Yousef spent - of his money for buying candy and % for buying clothes . Write their

fractions with like denominators .

-------------------------------------------------------------------------------------------------------------------

10 cm

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

3 1 3
Lena ate 1 y kg of fruits , Yasin ate E kg more than Lena and Jana ate T kg less than

Yasin . How many kilograms did Jana eat ?

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

1
Seif studied MATH for 3 ” hours and science for 30 minutes . How many hours did Seif

study in all ?

1
Maya ate 7 of 24 candies . How many candies are left ?

-------------------------------------------------------------------------------------------------------------------

1 2
Mohamed bought 3 bags of meat . Each bag has a mass of 2 9 kg .If he gave 4 a kg

to Rozana . How many kilograms left ?

-------------------------------------------------------------------------------------------------------------------
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®Drw i rectangles with an area 24 re units .
13
1
@ A rectangular room of 1; m wide and 4 m longe . Find the area .
[3)

-------------------------------------------------------------------------------------------------------------------

@

2
Mr Mahmoud Elkholy is reading achapter book in MATH . He can read 10 5 pages in 1

=

hour . How many pages will he read in 15 minutes ?

2@ B

y

0
A(2,4) B(7,4) ¢(7,7) D(2,7) 9 R
- what is the name of the figure ABCD ? Rectangle g 1 U F
- what is the length of AB ? 6
- what is the length of BC ? i Ji -
wCD [ [ esetesisvusisnnansansasinenss 3
- AB is perpendicular to .......... 313 T

123456782910

-------------------------------------------------------------------------------------------

1
Mr Mahmoud Elkholy wants to give P of a box candies to each student he has 9 boxes . To

1 |
How many 7 cup in 6 cups of chocolate ? ! *
13

how many students will he be able to give candies ?

-------------------------------------------------------------------------------------------------------------------

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
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Sofian wants to design a cuboid room of volume 12000000 cm3 , it's length = 300 cm and

it's height = 200 cm, find it's width .

A cuboid with a square base it's length 20 cm . 24000 cm3 oil was poured into it . What is
the height of the oil ?

1 3
MR Mahmoud Elkholy walked 1 > km and his student Ebrahim walked 2 " km more .
What distance that Ebrahim walked ?

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

277

5cm

6 cm

1
Samira studied MATH for 1 > hours and scince for 40 minutes . How many minutes did

Samira study in all ?

-------------------------------------------------------------------------------------------------------------------

Answer with the number line .
- what is the value of A ?

- what is the value of B ? 0 A B c 10

- what is the value of C ?
- what is the distance between A and C ?

The opposite figure shows the fraction of time that Eyad spends in
studying subjects . He studied 20 hours .
- what's the decimal of the time that Eyad spends in studying

Maths ?

- what's the fraction of the time that Eyad spends in studying
Maths ?

- what's the measure of the central angle of science ?

- what's the measure of the central angle of Arabic ?

- How many hours did he study English ?
- How many hours did he study Arabic ?

- How many hours did he study science ?
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Ahmed's car consumes 1 Liter of petrol to cover 5 km , complete the table and graph the

points on the grid . y
Petrol Distance 100
1 S 90 +
2 10 80
4 20 gg = —
G 30 L 5T g = = = = f t I =_SESS Y
50 —
9 45 40
10 50 30
- How many liters are needed to cover 40 km ? 20
- 12 liters can be consumed to cover ........... Km 10 - | | %
| |
@ Represent these data by the opposite piechart. | , . , < 7 5 ¢
Rate excellent | good pass weak
Fraction i l 1 i
20 2 4 10

- If the total number of students is 100 students ,
1- find the number of good students .
2- find the number of pass students .

3= find the number of week students .

4 = find the number of excellent students .

@ In the opposite circle . This represents 80 students .

1
- Shade > of the circle green .

- Shade % of the circle red .

1
- Shade Z of the circle blue .

1
- Shade g of the circle yellow .

- what decimal of the group is blue ?

- what decimal of the group is green ?

- what decimal of the group is green ?

- How many students do the green represent ?
- How many students do the blue represent ?

- How many students do the black and red represent ?
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FINAL REVISION

Question 01 Choose the correct answer

(D The smallest like denominator of % and % R
@ ®:s oF @:
@ The simplest form of form of % I8 sosienenssviveises
1 2 5 12
® : ® : © : @ <
@ Estimate the sum of % +% using benchmarks, .......c.cceeees
25 1
1 ® 1 ® E @ o
@ & X 3= cibvicerocives
6
5 12
® : ® 1 © 36 @
@ @ 3% s B R T
- ®: O ® 5%
@ @ It is impossible to draw a triangle with two ............... Angles .
@ Acute @ Obtuse @ right @ both b and ¢
@ @ the measure of an acute angle may be ................... $
@ o ®) 40° ®© o90° @ 170°
[ 4 A A a3
1%4 X S au e 11 =} 11 ;l- 11 +11
@ ® 35 © 4 ® e
@ ix b =£+£+— thenb =
e i T c othenb=......
@ 2 3= ®© 3 @ 25
15 2 e
7% hOUrs = ..cessersss ROUYE + chiirnessinins minutes
@ 7.30 @7% 7, 15 @ 7,45

@ the opposite triangle is .............

® ®

right @ Obtuse acute @ otherwise
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Math Questions Bank

primary 5 -second term
4
® B x5
8 20 2
kd i 20 -
E) g ® 3 © @ :
11—5 QN § L — e e 3
= it 24 P
- ® = © =
@ @ It is impossible to draw a triangle with one ............... Angles .
Acute @ Obtuse @ right @ both b and ¢
olume of l [ SRR Cube units .
@ ® 4 © s @ 10
solid which has 5 vertices and 8 edges is ...............
. Cone @ Cube @ cuboid @ Pyramid
@ @ the measure of an acute angle .......... the measure of an obtuse angle

< @ > @ = @ otherwise
@ 8 +e=40 ,thene=.............
® 3

9

@ 40 e
40

8 2 1
5 + = is about 1 = the estimation is ................

overestimate underestimate

®

70° ,then itisa ...ceeevvurnnnens triangle .

®
©
o 8 o )@3 it @ otherwise
©
©

| &

@
O,
@ 1.2
35 @ &
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Math Questions Bank

primary 5 -second term

@ @ the opposite triangle is

scalene @ Equilateral @ isosceles @ otherwise
@ Data can be represented by ......ccccvuuenee
@ Line plot @ Pie graph @ pictograph @ All of them
@ E ....................... Triangle has 2 acute angles and 1 right angle .
right @ Obtuse @ right @ otherwise
@ the measure of an obtuse angle is .......cccceeeee. 90°
< @ > @ = @ otherwise
@ the number of horizontal layer is .................. l
® 3 ® * © s @ 10
@ the cube has .......... Faces .
12 ® s © o @ s
@ 18 months = ....cc.cvvuees Year
18 1
— ! All of
0 - 2@ 36 @ 3 @ of them
@ the simplest form of 4 iq oG e
2 1 42 3
. 4z © 3 OF%:
25 | y
@ ? is equivalent to .....c..cceuuenene
1 1 1 8
23 ® 3% 35 ®
@ 3 % is equivalent to .....cceeevenene.
5 1 1 23
2 ®-; 3 OR~
3 — isequivalent to ......cceeuvuennnn

6
8 1
@8 ZE 3;

8 3 is equivalent to ......cc.eceuennns

L s
2

— i tvalent to .c.eeeevveenrnrnnnenennns
410 s equivalent to

®

81 @9

©
®@ ® 0 @
@
B

20 1 42
b3 el s All of them
OF 100 43 10 O
A0 j o CalyLuia\lg Clys3 i
e OO0 g 1 o S sl sl st
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Math Questions Bank

primary 5-secondterm L suleirgons]
@ m(<A)=90°,m(<B)=60°,m(<C)=30°,thenitisa.....ccceeuu.... triangle .
right @ Obtuse @ acute @ otherwise
8 L 3 r 94 3 Z
e T35 =9+37 - e

1 1 5 =
&) 123 13 G ‘
the volume of this solid is ...........c.... Cube units .
@ 12 ® 3 ® : oF

@ ...................... Triangle has 2 acute angles and 1 obtuse angle .
right @ Obtuse @ right @ otherwise
the measure of a right angle is ................... &
0° (®) 40° © o0 @) 180°
THEEY L
6 X 9 X 16 = sesssssssssssanas

3 @1_18
3 @ 1
@ ;

()
E1 0 CEEA W2

3 @ &
o < @ > @ = @ otherwise

@ m(<G)=110°,m (<D )=35°,m (<F)=35° thenitisan ................. triangle
right @ Obtuse @ acute @ otherwise
@ 4 % + 3 % is estimated as ..........cceeunennn.
4%+4 @”% ©® 4+% @31+4%
Length x width x height = ....cccociiiiiiininnn.
@ Area @ Perimeter @ volume @ Base area

A0 ﬂ oo Jay 2usa JUA go Cilylida Ylg CilySall yle Jgmall plisas
AT -"a1muw 3g030 /| - juaioll” &a4m JUS (o gl GR Code I
2 El.Motamyez.School will aic \sginoll il Ggas alclo pap @




Math Questions Bank

primary 5 -second term
5 1 _
@ SR - e , then the value of mis ......ccvevvvvvnannnn
.t 13 1 5
28 28 @ 4 @ 7
@ T + e =1 ,thenthevalueofeis......c.cceevrunnnns
8 1 5 5
- ® ; © = @ :
11 i )
@ i - a = s then the value of @ is .cvevvvininennnnnnns
8 7 10 6
L NGR @:
@ 55 is equivalent to .......c.ccceueeees
8 3 10 6
of ®: @ ® !
@ 4 Tz Years = ... VeArs + ..cceueninrnnns months
1
@« @11 @11
@ @ ........................ Triangle has 3 acute angles and 0 obtuse angle .

right @ Obtuse @ acute @ otherwise
@ the measure of an obtuse angle may be ................... R

o () 40° © oo @ 110°
1 = Y X
@ < @ = @ = @ otherwise

14 1 14
0 21 @ 35 @ 1 @ 3
@ AB =BC = 6.32 cm , AC is less than them , then it is an ................. triangle .

scalene @ Equilateral @ isosceles @ otherwise
the volume of this solid is ................ Cubes. l
® 4 © s @ 10

@ 3
the sum of the measures of angles around at a point is equal ............ °

270 ®) 90 ®© 360 @ 180
2 6
5 = +3 PARRRRETERI
9

1 4 4
g ® &5 ¥ s
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Math Questions Bank

primary 5-secondterm

® ® . ® 2

[=)]
vil=
1
S
vifw
Il

8

®
® .
®
®
®

W =
|

o
O |w
1

(=)

o

(=)

O | =

|en

w
win O

]
G| -
Il
1
]
w
+
|
]

®©
®BE BE
©
®

45 MINAtes = ..ivivessnesiiss Hours
1 1 3
o= = 1 P
: ® ; © OF-
base area x height = ......ccccevvvvennnnnns
Area @ Perimeter @ volume @ Base area
@ E ................... Triangle has 3 different sides .
scalene @ Equilateral @ isosceles @ otherwise
@ P is bounded by an arc and two radii .
Height @ Pie graph @ sector @ @ Bar graph
the colored part represent ............ Of the circle .

; ® os ©
@ @ 75 MINULES = .vievenvercsnanes Hours

% @ 1% © 1 Z
@ @Whichis equal to 6x%

(@) 2 @ 3x§ @ 18::% @ all of them

| w
=
N
o
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Math Questions Bank

primary 5-secondterm

Il
u—y
+

wmin T
f BN

®

1
3

S|w

® @

°MIH o [@o @o,p.“_ ow'”
®

W=

“W oNnie o+
| =

- w
I
|
NS

@

® ©

®

"

®
® ® ® ® ® e

e +
N =
+

w

o0

+

W

™|

0+1
2

2 1 2
115 @11; @ 4§

volume + height = .................

Height @ Width @ volume
@ ................... Triangle has 2 same sides and 1 different .
D

scalene @ Equilateral @ isosceles

@ 4E E R =5l
7 3

21 21

2 1
m - 7E = 3; , then the value of mis ....c.ccvvuvinnnnnas
11
— = 4
® mlz 35 ©
a + GE = 91 , then the value of ais ....ccccuviuennnn.n.
5 7
- —e 2.5
@ s ® 157 ©

1 1
@ B =g = 33 , then the value of e iS ....ccevvevvennnnns

® 22 ® 12 x

® ©
®.5-

®

®

@ otherwise

19
21

® +
@ 16
®

A ﬂoe oy 2o U o s Ulg Clsaal e gl s
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Math Questions Bank

primary 5 -second term

@ volume + ( length x width ) = .......cceeennes

Height @ Width volume @ Base area
Bl 2as 7, +3

@ - ® % 3 %
@ 2D T eiisavsie =6 %

1 6
(@) 6 ® . < 25

: @

= i3
2 0+2
@ : 3 = § timated
. 9 o0 S eSUMALEd as .ocuevecsecsaneane

(a) %+% @ ;—_+1 0+% @ 1+0

(®)
®
EAN I e & @

N =@l

,thenmcanb

®

7 % is slightly greater than 7
11 ® s
volume + ( length x height ) = ....c.cvvenenee.
Height (&) width
the measure of this central angle is ............ ®
360 ® 270
1 6

3 + - is about 1 , the estimation is ................
overestimate @ underestimate

@ @ ©
®
g

the measure of an obtuse angle .......... the measure of a right angle

@ < @ > @ = @ otherwise
@ s ® s © 2 @ 1

the angle whose vertex is the center of the circle is called .............. angle .

@ Circular @ right @ Straight
2 6
3 © 1 8
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Math Questions Bank

primary 5 -second term

12
3 ~4 is slightly greater than 4 , then c can be .......... .

@ 1 ® 9 © 13 @ 12

If the volume of a cuboid = 30 cm3 and base area = 15 cm2 , then it's height is ........ Cm

@ s ® 2 © 15 @ 150

ooooooooo

® ®

®
o-h
®
Q)

@ otherwise

% ROUE T cvisssasnsnnst Minutes
12 (b 7 (© 5 @ 1
5 4 " e
e + z is about 1 , the estimationis ................
overestimate underestimate
1 8

®
®

B =
+
N E
|

36 @%

@ -
32
............... is a circle divided into sectors .

Height @ Pie graph @ sector @ Bar graph

@ the measure of an acute angle .......... the measure of a right angle
2 @ = © = @ otherwise
9 2

Estimate the difference of Tl using benchmarks, ...............

@ ! ® * ® o @1

® 6 6@ ®@ 6
®

2t 0 000 Joy ausa JUA o Calylaia Ulg ColyS3all e Jgmall psifos
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Math Questions Bank

primary 5-secondterm

4 2
@ The LCM of denominators of ; and E 16 e i
6
7 35 5 —
(@) @) 35 ® =
@ 90 minutes =....ccvveveennes hours

® ®
® i- @
®
®
®

oo
|
|-
N
|
|

- @ otherwise

0 @ %
0 @ %
(@) all of them
@ o

® ; ® 5
® ; ® 3

wWiN

®
®
P
@ @ G @ G.ae

®
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Math Questions Bank

primary 5 -second term

the number of vertical layer is ........ - L l

[ o %]
o IN

§ 3 12_ 3

2" 2E 4
the figure name is ..... cylinder.........

=

|

w
N:I w

Il

I

-
=3
5
o
Il
&
M
b
I
ER
PN
"
it

3
@—x1.5x30= ..... . (AR

5 = 10 cm
if the volume = 1200 cm3 , then the missing dimension is TN RPN cm -

4 4 4 4 2 20 cm
— R e B e e = +

HNONONONCNONOEORONORONONONONONONMONONONS)
=

Joj o JUA o wiljliaa g LilhSiall e Jgumall plifes
."ainw 3gesa /| - jusioll” dram JUA o gl OR Code
(il aie ggingll Lualin Ggan leljo ap @




Math Questions Bank

primary 5 -second term
I A0 L _d 1 2
@ = 33x g g x3+....5 ...... X3
@ @ 15 minutes = ......... B i Hours
@ @ ...... 30.eeeee. minutes =— Hours
2
@B 2eil 2 2
@29) "y SO
e
Bl 3458 Les S
@ Baos...o.. =42
— 9
@ i
18 '%. E = 18 x LR .E ......
the measure of this central angle is ...... U8B0 =
@ 11 x..'..._"". k- 11 11 11 11
1 1 1
@ d~.-5—2 ,thend=...... T
@ @ - +n= — ,thenn=....... I
7 21’ =
1
B 62224 , ment=ts e
@ E Any triangle has at least ....... 2oiiiinee Acute angles .
@ Volume of - IS ciivens doveenen Cube units .
@ ........ BEHE oovoviisvissss Triangle has 3 acute angles .
LR S 5 In simplest f
@ s Te s 3 n simplest form
1 .
color - of the circle .
= the measure of a right angle is ...... equal.....cc...... 90
@ the sum of all decimals in one circle = ...... 1.....
@ @ the measure of an obtuse angle is ...... more than............. 90°
@ @ the triangle has ..... 3....sides and ..... 3.....angles
- 20 1
@ The simplest form of form of >4 S 120
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Math Questions Bank

primary S-secondterm

2 the Area of the opposite figure is ...21... square units

the sphere has ...... 0.... vertex .

13]

= the measure of an acute angle is ..... less than.......cceeees 90°

2 5
@Ex2.5= ...... PRt

...... face..............is a flat surface of a solid figure .

@Ex0.4= ...... i ........

8
@ ...... equilateral....... Triangle has 3 equal sides .

volume -- base area = ....height......

volume + ( width x height ) = ....... length..........

2
3 year=....... Dreme. 02 Months

If the volume of a cuboid = 400 cm3, it's length = 10 cm , it's height = 5 cm, then it's
width is ....... Bt A, Cm

the sum of all fractions in one circle = ...... 1.4

8
7 E is equivalent to ......... P A

1
90 seconds =..... 1 5 ...... minutes
. 1 3 .
The smallest same denominator of Z and E 18 cisuanse § .........

6
Estimate the sum of i + - using benchmarks, .......... ik cssnssss

SROREGEORONIRORORORGEORGRORONORRORONONORORES)
5

4 2
The LCM of denominators of E and E is E ..........

2t 0 ﬂ 00 Jay 2usa JUA go Cilylida Ylg CilySall yle Jgmall plisas
S p -"a1muw 3g030 /| - juaioll” &a4m JUS (o gl GR Code I
% El.Motamyez.School wisill aic sginell Liala Ggaa dlelio yap @




Math Questions Bank

primary S-secondterm
£ ... Tl simplest
5 " g e PRI n simplest form
2 23
9" "9
@ ABC is an equilateral triangle where AB = 4 cm , then AC=..i..And BC=..4
8 8 T sssssssa Rkl ettt
® R N~ then th lue of R i 2
e = 3 3 (S e value o s...3 .....
@ 421
4 4 = A ™ ssssss e
@) —year=....1.......Month
12year—. ...... Teceeeees onths
@ 2 m hours =....... 2o hours + ....... 15....eee. minutes
24 months=....... 2eieennns Year
120 seconds =..... Zicnnnnns minutes
@ B x2-...3
2 x " assssssnas oo g
@ 2 : XN R = Tr'l .........
5
8
|L_B ; x 0.125 = ssssss T esssssesse
@ 1-2.2_.2
- 8 - 8 — ssssss 8 oooooo
1
colorg of the circle .

UL LR Answer the following
find the volume of this solid . -4':m
V=LxWxH ,, V=20x3x4 =240cm’ 3cm

20 ¢m

1 2
Mohamed bought a book by 3 of his money and a candy by o of his money and saved the

left money . What fraction of money does Mohamed save ?

1 2 13 ,_13 ¢
e —_ = — L - | — i iy 1S mon
3 7 21 21 T b d

® “®©Q

3 1
Yara's garden consists of 3 poppies , r roses and flowers in the rest of the garden what

fraction of the flowers in the garden ?

w|w
+
|
Il
|
1
i
==Y
1
|
I
wlw
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Math Questions Bank

primary S-secondterm

2 3
@ Besan collected 6 = of honey . She gave his sister Sandy 3 " kg of them . How many

kilograms are left ?

62 33_215
=R = 28

5 3
@ Yousef spent ” of his money for buying candy and 3 for buying clothes . Write their
fractions with like denominators .

10 9

12 ] 12 area =12 cm2

find the volume of this solid .

®

10 cm

V=B.AxH ,, V=12x10 =120 cm®

3 1 3
® Lena ate 1 7 kg of fruits , Yasin ate — kg more than Lena and Jana ate o kg less than

5
Yasin . How many kilograms did Jana eat ?
_ 3 1 19
yasin = IZ + I 1% kg
19 3 13
Jana= 1 E - E =91 E kg

1
Seif studied MATH for 3 3 hours and science for 30 minutes . How many hours did Seif

study in all ?

N | =

3 - h
= 3 - ours
4

w
e -

-+

1
@ Esraa notice that 3 of the 9 rose bushes are in bloom . How many rose bushes are in bloom ?

i §

- x9 3 rose bushes

3
1
Maya ate Z of 24 candies . How many candies are left ?
3

Z x 24 = 18 candies

4
® write three different multiplication expressions that have the same productas 5 x °

@ 1 2 : 5 20 :
XS ip ® P X
1 4
@ Dareen bought 3 3 liters of water for s for each liter . How much money did Dareen pay ?

4 1
13 = x 377= L5 IE

i"" “' 000 Jay pae JUA go Ciljlisllg DS aall e Jgeaall plides
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Math Questions Bank

primary S-secondterm

1 2
Mohamed bought 3 bags of meat . Each bag has a mass of 2 P kg . If he gave 4 3 kg

to Rozana . How many kilograms left ?

1 1 1 2
3% 2; = .65 kg = 65-—45
Dr. iffer ngles wi n

1
A rectangular room of 1 M wide and 4 m longe . Find the area .
1
4 x IZ = 5 square meter

2
Mr Mahmoud Elkholy is reading achapter book in MATH . He can read 10 b pages in 1

hour . How many pages will he read in 15 minutes ?

1 2 1 2
15min=zhours — 105 X = 25 pages

If the price of 16 candies 26 L.E. .find the price of each one .

5
26+16=1 ELE

] y
Pl n i .
1

A(2,4) B(7,4) ¢(7,7) D(2,7) 9 o) O l
- what is the name of the figure ABCD ? Rectangle g ? ] lI C |

el ¥ . D
- what is the lengthof AB? 5 6 i

. st 1 | L
- what is the length ot BC? 3 4 ® 3
-CD // ...BA.... 3 £ B
- AB is perpendicular to ..... BC..... ;i) B |
i X

How many 7 cup in 6 cups of chocolate ? i 2 545 6 75910

1
6 + s = 36 cups

1
Mr Mahmoud Elkholy wants to give 5 of a box candies to each student he has 9 boxes . To

how many students will he be able to give candies ?

j |
9 + = = 45 students

5
Find the area of the opposite rectangle . Sem
1 1
8% 3 5 = 28 square cm 33 cm
" oo Jay i JUA o ilyliis g ljS3all le Jgumall plisos
."ainw 3gesa /| - jusioll” dram JUA o gl OR Code
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Math Questions Bank

primary S-secondterm

@ Sofian wants to design a cuboid room of volume 12000000 c¢m3 , it's length = 300 cm and
it's height = 200 cm, find it's width .

W=V<+(LxH) sy W=12000000 + ( 300x 200 ) =200 cm

A cuboid with a square base it's length 20 cm . 24000 cm3 oil was poured into it . What is
the height of the oil ?

H=V+(LxW) ,, H=24000+(20x20) =60 cm

1 3
MR Mahmoud Elkholy walked 1 > km and his student Ebrahim walked 2 " km more .
What distance that Ebrahim walked ?

1 = + 2 2 4 = k
2 5 A
if the volume = 300 cm3 , find the height of this solid .

H=V+(LxW) ,, H=300+(6x5)=10cm

?2?

5cm

6 cm

1
Samira studied MATH for 1 > hours and scince for 40 minutes . How many minutes did

Samira study in all ?
1
IE x 60 = 90 min \\ 90 + 40 = 130 min

Answer with the number line .
- what is the value of A? 2

® ® ® ® ©

A
 J

- what is the value of B ? E
- what is the value of C ? §
- what is the distance between AandC? 6

The opposite figure shows the fraction of time that Eyad spends in
studying subjects . He studied 20 hours .
- what's the decimal of the time that Eyad spends in studying

Maths ? 0.3

®

- what's the fraction of the time that Eyad spends in studying

3
Maths ? —
10

- what's the measure of the central angle of science ? 36 °

- what's the measure of the central angle of Arabic? 90 °
- How many hours did he study English? 4 HOURS

- How many hours did he study Arabic? 5 HOURS

- How many hours did he study science ? 2 HOURS

e (’ oo Joy uuo JUA go Ciljliisllg iljS3all yle Jgmall plifos
S p s 3“1..‘”- 'M'_I"i:&udﬂ:‘.qa!luﬁcelel
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Math Questions Bank

primary S-secondterm

Ahmed's car consumes 1 Liter of petrol to cover 5 km , complete the table and graph the

—.

points on the grid . ¥
Petrol Distance 100
1 5 90
2 10 58
4 20 60
6 30 50 -+
9 45 40
10 50 30 —+— - /
- How many liters are needed to cover 40 km ? 8L %8 /‘/
- 12 liters can be consumed to cover ..... 60...... Km | & |
@ Represent these data by the oppositepiechart. | > 3 4 5 6 7 8 910
Rate excellent | good pass weak
Fraction | 3 e 2 = Excellent [JJj
20 2 4 10

- If the total number of students is 100 students ,

good .
pass D
weak .

1- find the number of good students . 50 students
2- find the number of pass students. 25 students
3= find the number of week students. 10 students

4- find the number of excellent students . 15 students

@ In the opposite circle . This represents 80 students .

- Shade 5. of the circle green .

- Shade % of the circle red .

- Shade % of the circle blue .
- Shade % of the circle yellow .

- what decimal of the group is blue? 0.25

- what decimal of the group is green? 0.5

- what decimal of the group isred? 0.125

- How many students do the green represent ? % X 80 =40 students

- How many students do the blue represent ? % X 80 = 20 students

- How many students do the yellow and red represent ? i X 80 = 20 students

calll soas a3
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Equivalent fractions and The simplest form (Simplify)

Choose
The mixed number 1 % = as an improper fraction
2
A2 B.2 g B: =
2 3 3 2
The mixed number 7'i = as an improper fraction
2 A3 5 g e E o 28 Equivalent fractions
: 5 using multiply or Divide
2-= as an improper fraction B
* al B.2 c> .~ 10 _ 20
7
The improper fraction - = 2 3
4 i 22 g 2 \O/ \Cy
A.3- B.7- C.Z2= D. 2-
2 5 7 5 g
. The improper fraction % = impro ~
er = Mij
A 42 BiZ c:32 D. 3= | P Ixed
5 2 2 2 Remainder 1
. ??i = as a mixed number ; 25 4
2 6 3 3 /
A7 B.3> c2- D.:85 , 6 A 6 1
? = as a mixed number
y
A.8= B.12 c1s D. 6+ &
3 % e as a mixed number Mixed = improper l
1 1 9 ~—3
A.gﬁ B.ll; C.11- D. gﬁ 7 3 19
2% is equivalent to 2 8 8
"2 8.2 e . & —
"9 ) "9 -] W —
3% is equivalent to
10
A B.— ¢.2 D. =
2 5 5 2
Which of the following is equivalent to % T
11
10 1 20
A. E B. 8 o | 5 D. %
2 s equivalent to
12 ? 3 1 5
A .3- B.4- C.3- D. 3-
5 5 5
s equivalent to
13 ? 1 1 2
A .3- B.7- C.3- D. 5-
6 2 5
The fraction %is equivalent to
9 9 4 i
15 | Ak bR "3 013 o
¥
u amu.nmlj.un.o 011-23- 757 939 .

_'.

AR, T R

A b B0

b ¢



Which of the following is not equivalent to %?
15
3 60 12 30
A. 5 B. 80 o 8 D. %0
e R g :
¢ The fractmnIm equivalentto - —
6
12 6 b 20
Mg 12 =3 B s
.10 :
The fraction 5 is equivalentto
AP A 2 1 20
A% B. 5 o 15 D. 3
The equivalent fraction of—g— [ —
18
3 2 15 2
A = = s £
5 2 6 £ 30 2 5
5. % n
A. 37 B. 25 C. 40 D.5x8
24—5- isequivalentto
20
5 2 s X
A'ZA B'SZ C.6+4 D.4+6
The simplest form of 22is
5 48 Fraction in
AL e c £ D. 2 simplest form
8 2 3 4 _4
The simplest form of the fraction Eg is 1_2 _3—
22 =
. . .10 A 32
n _3_ B "8‘ e 9 B 5 J] \@/‘ 8
The simplest form of the fraction QZI' is
23
1 3 4 1
A. —7— B- 7 c. —7— D- T I
The simplest form of 3¢ is Mixed number in
24 implest form
Sim
A.3% B. 22 c.2 D.3% g
6 3 -

Which of the following is correct ? 5 4 = -j-—
5|, 3_4 o758 clel 0 3.9 iy
3=y & ‘%2 $3—8 \ ~@

The simplest form of—% is
26

2 2 18

K 8 B. 3 C. 2 D. 1

=l 1 _
27 | 15 3 &

A > B. < C. = I/

. . -\_- 1
a3 3 _— = = ._‘I
2 yuuie 204l jwo 011 -23-757 939. i
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Complete:
28 8-;—= as an improper fraction
29 3%= as an improper fraction
30 E = as a mixed number

24 _ 2 4
31 |If % — & sthenk = -

5 X
32 === enX= —
If 728 s th o
12 .

33 | The simplest form of~1~8—|s .

3_2a <
34 lf4 =27 sthena =

Regrouping The whole number

Choose
1=_1§ :
T B.2 ci1= D.2
5 3 3 4
4 = 5.8 A
- ny number
= 3§ B.% C.3 D. 4; ‘1 =578 OR Same number
= | Any number
= 2:1_;.051180&1—;
37 Same number
A.73 B.> 6= .73 | 8
Any number
28 1= ‘ 1@9% . 9—3— B8 O i heiiber
A 112 B c.112 D. 102 :
7 11 2 2
39 2 =
2 5 1 3
A-SE B.4§ C-SE D- 4;
40 _ 2 5 1 1
A.5+-2~ B.6E C.6-2- D. 5;
Regrouping The mixed number
Choose
T
; 1 a
The fraction 2 - byregroupingis g
41 4 Regroupin
A2S B c12 R £
T4 © 2 4 "4 +
: 1 5
The mixed number 4 3 can beregrouped as . - 4
42
13 | 4 1
A G B. 3, C.33 D.4+3 / M ’
The fraction 5% by regrouping is -
43 |, 10 10 10 p. 38
A. 5—?* B. 4 - C.3 - 3
5 _.a - :
14 2: =1 5 by regrouping sthena= — o ﬁr‘
A.5 B. 11 C.6 i RV,
g R "".
2 yuuie 204l jwo 4 011-23- 757-939. '
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e SE can be regrouped as
27 7 7 7
A. = B.5 5 C. e D. 4;
; ¢ ,
. lf3-.,.—— 277 byregroupingsthenX=__
A1 B.2 C.3 D. 8
3; can be regrouped as
47 11 4
An 3 B- 4 Cc 2 7 Du 2;
Regrouping to have mixed number
Choee (If the numerator is bigger|
3; = as a mixed number than denominator
* la32 B €52 D. 42
"5 = Y3 et - l
7% = as a mixed number : 3 |
49 | 5 3 3 6 S
A7 B. 35 C‘BE D. 73 | 8
: +1 = _/"" f
il 1% = as a mixed number LL ! AJ
A. 23 B.2; c.; D. 1§
61—70 = as a mixed number
' a6l B €7= p; 72
'Yy 10 * Cig ‘& 10
E = as a mixed number
0 B.6—~ ¢1i D 5L
15 i 719 T 1s
LCM for denominators
Choose
The two like denominator fractions represent the modelsga E[D are
53
3.1 & 2 8 4 9 4
A%'3 B.8'8 Cn'n D.2'%2
- The LCM of denominators of% and % is -
Al B.?2 cC3 D. 10
The two fractions-:.;- and %are equivalent to the two common denominator fractions
55
&5 4 45 o5 S b
A. 5 and 4 B. 9 and 9 C: 5 and 45 D. 50 and%
- The smallest common denominatorof%and%ls. e
A 2 B. 15 C. 30 D. 35
- The LCM of denominators of% and %is
A 12 B. 36 C.18 D. 6
-
- _’ \
2 yuuie 204l jwo 5 011-23- 757-939.
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- \ 3 1
Th = —
58 e like denominator of 7 and m is 1 B
A 3 B.7 C. 14 D.1
Two fractions 3 % and5 % with like denominatorsare
59
2 1 n_ .31 4 1 2 2
A. 3-3-and5-6 B. gand? C. 33and53 D. 33and56
i The LCM of the denominators of -.3? and % is -
7
A. 10 B. 4 C. 21 D. 3
Two fractions 2 -gwand1 %with like denominators are
61
5 3 5 [ 5 3 5 6
A. Zﬁandlﬁ B. 1§and2§ C. 2§and1§ D. 2§and1§
Adding or subtracting fractions with the same denominators
Choose
11
62 4 3 8 o 3L !
Ag B. 5 Cg ‘4 | Same denominators
%.*.%: ) ) | Keep the denominator
63 7 and add or subtract the
A B. 1 c. 34 D.17
A ; T A numerators
11 2 . R IS

69

7 2 1 &
A 335 B. 4% c. 14 D. 27
4 1=
70 A. 0 B 9§ c_i D 1-:'1 !
7 7 7 -

| N s
2 yuuie 204l jwo 6 011—23—757-939. "
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12 12
71 1%

72
A 8L B. 3% C2

PN
o
N

oo|w

73

74

75

76

77

Complete

78 23-!- 5

79 |1

80 |8

81

+
w

[=lwn | ww | nw
|
(o0 ]

82

wn

|
N
W | Sw| WIN | -

83

9]

ol | nm | B= | F
+
~J

84

w

I
—
vis | &
|

85

&~
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Choose
- 8 7 7
by 3 o 5
AT 55 &3 0. %
87
1 5 1
3 2 = D. 1
A. - B. 3 C, s
+ 'Il": A ..
88 5 ]
2 3 o
A2 % C.1 D.2
=
89
il e e dgl .
33 7 SR ) £
12
90 i 44- <7 11 4 . . .
A — B. — C.— D.— Different denominators
15 44 15 44
33 _,1_ Find LCM of denominators and
i add or subtract the numerators
1 1 1 1
A 1% - C. 2+ D. & | 841 S 2 .8-C ort1l
4 1
, S I B_al %_g_ I -alg
gt 44 =4 128 328
2 4 c 3 D. 1+ . —
20 3 * 4 * 15
5%+3%=
. 2 7 1 2
A 87 10 C. B'i' D, Sg
2%4—5%:. S
94
2 9 9
A 7= . 3= i i i}
9 %.33% C7% D.15
=
95 i
L 3 1
s ‘8 C4 D.11
334235 —
96 1
5 2 6.6 Laial
A5'§ 353 (:.2+3 D.2+32 ~
--_\_":I- ’
2 yuuie 204l jwo 8 011-23- 757-939.
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31 T s e
GF | e 1 i 18
A.‘]ng B_é—-5~ & 5; D. 3
le+5%=7%;thenX_-— =
98
1 1 R § D L
A. ZZ B. 23 C. 2 A
bl X7 -
S2pl=A,7 =
= If? 3 21+2_l,thenx
A 4 B. 3 C.7 D. 12
X+44 =57, thenX=————
. 1 1 1 1
A. 7 B. % 58 1‘2' D. ‘IZ
Ifl+a=l,thena=
2 8
101
B B> 2 o1~
) "8 10 T8
e A
3 5 can be rewrite as
102
6.5 . > Ly 2 1.1
A. -§-+'§ B. 3+7 C. [2+1]+[3+5] D. 32+52
Complete
2 P
103 |2£ + 15 =
4 _10 __ §
104 (15 = 5 =
2 &
105 (3£ + 2¢ =
5 _12 =
10723 + 53 =
= N .
108(2% - 13 =
3 _1._
10917 - 5 =
110 (92 _ g1 =
93 62
B [
11|23 + 1% =
112 |33 - 1% =
5 . o
113 |43 - 37 =
3 4 _
11427 + 135 =
5 i D
11573 - 47 =

i 9 011 - 23 -757-939
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aﬂ
32

8k
g E

74



116

Regrouping in operations

D.2

118

119 5 5

120

Gt

121

un|=

122

.3~

123

C4

o=

D. 4

~w

124 1

C3

~lw

125

Co IE

Do 2_

11

126 9 3

C.S Dlz

O =

o

127

Gl

Complete

7%}
1

128

129

-

y

10

011-23-757.93
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2 4 _
130 63 = 35 = —
1 2
131 37 - 2§ =
1 i AR
132 77 — 2§ — i
1 2
133 |4 i 2 i
h 132
134 | 9 e 3 3 =
3 ook o
135 |5 3 2 E =
1 3 .
136 |9 - 8 E =
Estimating using Benchmark
Choose
X
137 If3 5g 1S about 4 ,then X may be
A 13 B. 2 .7 D. 28
If3 2 is estimated as 3 ,then a can equal
138
A. 2 B. 1 C. 4 D. 15
k., 1 =
- If 4 23 is about 4 — > sthen k may be =
A .2 B.3 C 4 D. M
m,
sqi IfQF is about 4 s then m may be
A 2 B.8 C.10 D. 17
Bt i
- If& A is slightly greaterthan 4 > sthenh may be -
A. 20 B. 4 C. 28 D. 54
520 s a little less than 6 stheny maybe
142 Y
A. 21 B.5 G2 D. 39
1F9 Xis little greaterthan9 iX ,then Xis estimated as
143| 5 2
A 3 B. 5 C.2 D. 1
- If2 —?-isa little greater than 2 sthen jmaybe
A 2 B. 4 C.6 D. 17
X iceli 1
ik If4-2—2|ssl|ghtly greaterthan4 5 ,thenXcanbe —
A. 10 B. 21 cC5S D. 12
Ifs.!"‘8 is about 5 ,then n may be .
146
A 8 B. 17 2 D. 12 Q'
) yuuie 20l jiwo 1 011-23- 757-
s oo DA ' .
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If 7% is a little greater than 7-;— sthen a may be

147
A 4 B.5 C.7 D. 8
- If3 F5n“ is about 4 s then m may be
A b B. 8 C.10 D. 12
X 1
— —sthen X may be
- 5 %4 is slightly greaterthan 5 5 »then Y
A. 23 B.9 c.M D. 13
- Ifs%is slightly greater than 5 % sthen X may be equal to- =
A.7 B.1 c.9 D.10
3 1 b
- If 8 C is slightly less than 8 > »then Cmay be
A7 B. 4 €2 D. 15
Ifl;gis almost 4 s then b may be S
152 7
A1 B. 4 £.5 D. 6
Ifzgis nearl 2l then d may be
153 d g pEe==—=
A. 32 B.'S C:7 D. 17
1 .64 -
- 5 -+ 7 isestimatedas - — -
PSS 3 1 1
A.2+2 B. 0+1 C.0+2 ,—2-+'|
l+—8—isestimated as-———
155 |4 9 1 .
A0 B. 7 c.1 D. 13
Estimate the sum of—g—+%using benchmarks s the sumis - -
156
A 1
A 2 B.1 3 C1 -y
5% i 2711-can estimated as
157 1 1
A 7 B. 75 C. 8 D. 85
51 +24 s estimateas
158 6 5
A: 5+3 B. 6+3 CH5%2 D.6+4
B%HT‘IEt:an estimated as
159 1 1
A 9 B. 97 C. 10 D. 85
-
£ yuuie 20l jiuo 2 011 - 23 - 757-939
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1 % +2— ; estimate as
160
A 142 B.1+2%~ c.1-%-+2 D.2+2
Which of the following is underestimate ?
161 A %-l-%is about1 B. %+ilsabout1
C.%+%isabout2 D. %+glsabout2
Which of the following is underestimate ?
162 7 4.5 .3 b P 3 1 8,.8-4
A.6§+Z—B B. +110 =1 C1D+9 12 0.59 7
Complete
163 | By using the benchmarks ,% isestimateas
164 Z%is almost 3 Estimate forb =
165 % + % isestimatedas
166 | 8 %— +1 —65~ is estimated as +
& . T 5
167 §+zls estimated as - —+ = el e e
Multiplying fractions
Choose
2 1
168 15 2 : s 3 2
A. B.1— C.— D.1—
25 15 25 25
2§x1§=
169
2 2 2 2
A. 3 B.3 = C. = D. 2 o=
0.25 x -g— =
170
1 1 3 2
A % B. 7 C: % D. B
§x1§=
171
A2 B 12 .2 D.1—
14 3 3 25
2.3.8
e Y e T e
3°'8°9
172 o 8 LdE b2
"3 "9 20 17
1.1
T5Xsg=—
i) 4P 1 16 1
n JuuLe 204l jiuo 13 011-23- 757-939.
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% X PGl
174 2 20 4
£ Y 5
i S &% 0.3
Bride—
e 4 20
A.Zrﬁ B.Sﬁ C.42.| D. 6
Ifax% % sthena = =
i (P B2 gl b
- "2 17 i/
1x05=
177
2 1 L A
Ao ' €10 B 55
0.25 x%: ‘ \
- 1 2 4 2
A. A B. 3 C. C] D. g
L=l -
- 7><r1n-—21 ,thenm= :
1 h 1 =9
i B &3 D- %7
3 i)
wo|3 50— '3
A. less than B. greaterthan C. equalto
3.5, 3
181 75 e == 7
A. greaterthan  B. less than C. equal to
b, 4
182 (78" — 7
A. less than B. greater than C. equalto
3.5 3
183 |5 * 35— — 5
A. less than B. greater than C. equalto
5,5 5
1843 75—
A, less than B. greaterthan C. equalto
3 B E]
185 |4 150 4
A. less than B. greater than C. equalto
Sxl; -3
- 3 5 X 4 is 3 5
A. less than B. greater than C. equalto
Complete
k% ‘ ","
187 » X B= —
n m.nu.cml Jwo 1 011-23- 757-93 .
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(LS
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e

"
1_..w

L (2]

X

o

o~

R
‘a‘*
)
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Lallig

1
198 | 7-x

201 z%m%: g

202 (2

203 |1

3412=
204 25 x13= ——

205 3%»:%

8
206 ==
0.25 x 9 I

207 |2

4

2
210 | 5 x

-

Al

=\

-
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211

212 X

213

214

The product =1

C.1

o
LSl

216 (2",

.4

D.4

7
(7, .

€7

218

219 |6

220

221

222 5 g 5 2
A--Z? B-"; c-; Dolg
x1l==
ad PR g2 c.2 p.1
2 2 3 3
1 L
224 15" = 5 5 6
A5 B. ¥ 3 C. - 4 D. T
2-13-x =1
e [ 3 1
A. 3 B.rf C.3? D. &
P e
1226 -
A2 B €2 D2 * a0
4 i 4 3 | . /
uduu.;.emlmnn 011-23- 7#93
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"'Q”u




Choose
g i
7';"?—— —
227 =
A, 35 B. 3 C. 14 D. 16
R+g=1-1-
228
A. 2 B. 3 C 4 D. 5
k] |
137z—— S —
229 s ,
A B. %5 C. 17 D. 52
3+%: : —
230 3 1 .
A.E B.E C.15 D.§
13 + 7 equals each of the following except —
231 & A 26 b
A.H——_{,— B.1? C. 1 D.'Ix?
'le.":-:-'}':Zi
232 o
A7 B. 14 C.16 D. 4
LT
233 |3 ¢ 3 1
A.-B— B.g C.15 D.'E
.
234 4 2 1
A6 B.2 cC8 D. 4
)
7-.--2--——~—
235 1
A. 33 B. 3 C 14 D. 16
E+%:_
236
15 L 2
A. 2 B. ?2 C. 30 D. 5
% ghm 1w
237 1 2 " il
A3 B'ﬁ C. 5 8
B+4= 43
238 4 3
A. 12 B.3 C 3 D i
%+5= —2 :
239 -
A 2 B. 3 cz D. 1 T
.
2 yuuie 204l jwo 17 011-23- 757-939.
. R i S s : : :
o S
%. 'ﬁ% =, - I. ’*

. .



240

W7 8=a— thena=" O

8
A 2 B. 8 C.17 D.1

241

lf%+m=:|%,thenm=

A 8 B. % C. 1% D.

&~

242

If6+h=30 ,thenh=———

A % B. 180 C.5 D. 90

243

If%+3:x,then>(:4—

1 2
A 13 B. % C6 D.

win

244

If8 +m=24,thenm=_

1 1
A 3 B'i C.13 D. 32

245

12 + 5 equals each of the following except -

5 2 2
A & B. ¢ ¢ 2% D. 2+

(5,118

246

How many fifths are therein 7 ?
A 5+7 B.5x7 C.5+7 D.7-5

247

How many thirds are therein 2 ?

3 How many fourths in 3 ?
A.5 B. 2 C.6 D. > '

248

3 +ﬁ- > 3x4=12 |
The number of fifths in 4 is

How many thirds are therein 9 ? \_/ \I/ k

A9 81 C20 D.2> ab b 4 L
D |

249
A 18 B. 27 C. 36 D. 24
The number of thirdsinone is —
250 1
A1l B. 2 C.3 D. 3
If we divide 7 oranges among 5 persons, then each person has orange.
251
5 1 i 2
A. 7 B. 1—5- (o 2!5 D. 1 5

If Ahmed bought 7 kg of meat and wanted to divide it into 5 meals » then the number

252 |ofkgineachmeal= kg
A.7x5 B.5+7 c.1% D.7-5
Complete
253 5+%: = -
e &F
(3 yuuwse 204l jiwo 18 - 25— 757 93.
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g,
254 |7 = i
i - —
255 3+ 6=
256 % +4= -
257 |13 5 1 —
"4
i e
258 | 3+ -
Area of a rectangle
Choose
Thearea of the opposite rectangle=___ square units.
259 | A, 15 B. 18
C. 20 D. 24
Area of rectangle = " A A | _ h =1
260 A L+w B. LxW C.L+W D. [L+W)x2
Areaofrectangle=— _  xw,
261
Al B. w E-h D. basearea
The area of rectangle whose dimensions are% m and ?T; mis—
262
1 3.3 1 2 1
A —>m B.5m G ssem D.-5m
12 4 12 12 Area of rectangle
2 s T ) s
The area of rectangle of length 3cm and width zCmis —__cm o
263 =
Ay L B. 1 ¢ 2 D3 =
" 12 "6 % * 8 Length
: — i I——
i The area of rectangle of dimensions 5 2] meters and 2 > meters is ; Area=L x W
A. 13%m B.8m c.8m? D. 133 m?
The area of rectangle of length % c¢m and width % cmis——cm?
i 5 3 2
A. 7 B. 9 C. 10 D. 3
The area of rectangle ofdimensions?% meters and 2-15~meters s m?
266
3 3 i 1
The area of rectangl i ions 2 In() 2 idth
gle of dimensions cm and 3m () The area of rectangle of length gm and vwdthgm
267
A > B. < C =
-~
-~ 4
2 yuuie 204l jwo 19 011-23- 757-939.
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Types of triangles according to measure of angles

Choose

50°,70° and 60° are the measures of the angles of triangle.

268

A. anobtuse-angled B. aright-angled C. anacute-angled

If m (£ X)=40°,m (£Y)=90°and m (£ Z) = 50° s then the triangle is
269 | angled triangle.

A. Acute C. Obtuse

Right
triangle

C.70°,80°, 30° D. 50°, 80°, 50°

B. Right c
The triangle whose measures of angles are is an acute triangle. The measure of one angle
270 |A. 110°, 20°, 50° B. 45°, 45°,90° is equal to 90°
C.70°,80°, 30° D.90°,80°, 10°
The triangle whose measures of angles are is an obtuse triangle. |
271 |A. 30°, 100°, 50° B. 30°,60°, 90° Acute A

‘triangle /70

AXYZ , m(£X) =40°, m(4Y) =90° and m(£Z) = 50°, then the triangle
272 (XYZ is triangle.

l

o 60°\¢c
A. acute B. obtuse C. right YA
' 3 F h
In AABC, m(£A) =130°, m(«£B) = m(£C) = 25°, then the triangle ABC The measure of eat:r
273 |is triangle. angle is less than 9
A. acute B. obtuse C. right
AABC, m(£A) =30°, m(£B) = 100° and m(£C) = 50°, then the triangle
274 |ABC is triangle. A ObtUSe
A. acute B. obtuse C. right :
- - - : triangle
AEFG, m(£E) =55°, m(£F) = 35° and m(£G) =90°, then the triangle
275 |[EFG is triangle.
A. acute B. obtuse C. right B 20 c
AABC, m(£A) = 46°, m(£B) = 38° and m(£C) = 96°, then the triangle The measure of one
276 |ABC is triangle. angle is greater than 99° ‘
A. acute B. obtuse C. right
S Any triangle has at least acute angles .
A2 B. 3 C.1 D.0

The opposite triangle is

T g - . - -

278 | A. acute B. right
C. obtuse D. equilateral
Types of triangles according to lengths of sides

Choose
5o The triangle whose all sides are equal in length is called triangle

A. acute B. obtuse C. right
- There are two equal sides only in the triangle

A. acute B. obtuse C. right

The triangle whose side lengths are isisosceles triangle.
281 -

A.4,5,3cm B.4,4,5cm C.3,5,6cm D.2,3,4cm

-
2 yuuie 204l jwo 20 011-23- 757-939.
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282

The opposite triangle is

bcm Scm

A. equilateral B. isosceles

C. scalene D. obtuse

6cm

Equilateral
A

283

The triangle whose side lengths are is an equilateral triangle.

A.7cmi,becm»5cm B.5cms7cms5cm

C. 4cms4cmsbscm D. 8cms8cms3cm

3cm,

R C

- 3cm

In the equilateral triangle the side lengthsare

All sides are equal

284
A. 4,5:3cm B. 454,5cm C. 4y454cm D. 3,5,6cm -
isosceles
The triangle whose side lengthsare is isosceles triangle.
285
A 4,5,3cm B.4,4,5cm C.3,5,6cm D.2,3,4cm a0 Vs
In the triangle ABC>; AB=BC=5cm., AC=3cm. B - c
286 | sthen the triangleis -
A. equilateral. B. isosceles. C.scalene. Two sides are equal
- If AB = BC = AC »then the triangle ABC is triangle.
A. Equilateral  B. Isosceles C. Scalene Scalene
The triangle whose side lengths are is an isosceles triangle. A
288 | A. 7cm,7cm,7cm B. 5cm,7cm,5cm 6cm Sem
C. 4cm,5cm,3cm D. 8cm,6cm,9cm
B -
The triangle whose side lengthsare 8cm,6cmand ____cm ) 7cm c
289 | is called scalene triangle Different side lengths
A 8 B. 6 C.7
- In the triangle ABC» AB = BC =5cm.s AC = 3cm.»then the triangleis
A. equilateral. B. isosceles. C. scalene.
_— The triangle whose all sides are different in lengths is called
A. Scalene B. Isosceles C. Equilateral
Coordinate plane and ordered pairs
Choose
The — _iscalled the origin point.
292
A. (1,0) B. (0,1 C.(1,1) D. (0,0)
s The X-coordinate of the origin point is =
A.0 B.1 C.2 D.3
- The X-coordinate in ordered pair(3,2) is C—
A 3 B.2 C5 D. 6
bes Which of the following points located on Y-axis ?
A.(1,0) B.(0,1) C. (275M) D.(3,0)
-
2 yuuie 204l jwo 2 011-23- 757-939.
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The point (0, 3) lies on

296 ———
A. X-axis B. Y-axis C. Origin point
b7 The point (5, 0) lies on
A. X-axis B. Y-axis C. Origin point
The X-coordinate of (2, 5) is ............
298

A.2 8.5 C.10 D.o

299

The y-coordinate in the orderd pair(1,8)is —
A1l B.8 C.1+8 D. 8-1

The y-coordinateof (0+7)is— —

300
A D B.7 C.70 D.1
The origin pointis
301
Al (1 ’0) B- (0 '!1) C| (0 ,0) Do ‘.1 ’1)
The point — lies on X-axis.
302
A. (0,5) B. (1,5 C. (5,1 D. (5,0)
Which of the following points located on y-axis ?
303
A. (1,0) B. (0,1) C. (1,1 D. (7,0)
The volume
Choose
Number of horizontal layers of is
%A 4 B. 2
C3 D. 24
The cuboid has é horizontal layers and 2 cube units in each layer s thenits volume = - cube units
305
A. 8 B. 12 C4 D.3
A cuboid has 4 horizontal layers and 5 cube units in each layer s then its volume = cube units.
306
5 4
A9 B. 4 C 5 D. 20

If number of vertical layers in a cuboid is 4 layers and each layer has 10 cube units, then

307 | its volume = ——————cube units.
A 10+4 B. 10-4 C.10+4 D. 10x4
o Number of horizontal layers in ﬁ is ———— layers.
A 4 B. 3 G & D. 1
[ 11 (Jhas—
bt LT T T my
A 4 B.7 cCn D. 12 -~
B
22
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D
310
A &4 B. 8 C. 10 D. 2

311 | The cuboid‘ . J has edges. N
A. 14 B.8 C. 20 D-12 Rectangular prism (Cuboid)

has —

312 @ m %
A3 B. 4 C.5 D. 6 ©
Volume of is cube units &g&\

313 Length
A 8 B. 12 C. 24 D. 10 Volume =L xW xH

—
Volume of equals — @

314
A [3+3)x2 B. 3+2]x3 C. 3x2x3 D.3+2+3
Which of the following has different volume ?

315 | A. B. e~ ﬂj C D

L | )
Volume of opposite cuboid = cm?
=
16| A 86 B. 49 3
C. 14 D.7 EN
Tem

The volume of the opposite solid = —— ecm3 3em

317 (A, 17 B. 170
cm
C. 120 D. 140 10cm
Which of the following has the greatest volume ?
T
318 | A B. c D.
3cm e bcm / %Rm I/ QTCm
S 3cm t Hem -
Zem 10ecm

The volume of ’ is ———cm3

319 | 5cm| 20cm
30cm
A. 3,000 B. 300 C. 30 D. 30,000
R
2 4
209l 23 011 - 23 -757-939
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320

Volume of opposite cuboid = cm3

A. 15 B. 120 5¢cm
b
C‘sz. D.6+5-4 -
dcm

321

Cuboid of length 5 m, width 2 m and heigh 3 m, then its volume =
A. 30cm? B. 10cm> C. 2ecm? D. 30m3

Capacity of water can be poured in a cuboid vessel of inner dimentions 30 cm, 20 cm

322 [and10cmequals ——— cm
A. 60 B. 6,000 C. 5,000 D. 4,000
Volume of opposite solidis —— cm? Area = 6oy
E 4
203 | A4 B. 20 S Base Area 5
(]
12 D. 64 i o
Volume of opposite solidis ——— cm? - Area=36cm?
A.36 8. 350 . Volume = Base Area x H
324 '|
C. 122 D.46 19 cm
Volume of cuboid = 60 cm3 and base area = 20 cm?, then its height = —— - cm
325
A. 1200 B. 80 C.3 D. 40
Length of cuboid = e
326
A lxwxh B.M CM D. wxh
wxh h
The volume of the opposite figure is 24cm?
hen th issing di ion i ? o . 5
377 then the missing dimension is The missing dimension
A.3 B.6 C.8 -] cm The voluem of the opposite
D 4cm cuboid is 40cm? , then the §
G s g S . missing dimensionis
Length of the missing dimension in the opposite i a6 e
figure its volume 48 cm?> is __cm. ? =Bxg - 2m
328 |
a2 B. 3
3cm
C 4 D. 5 Lem
I— — —1
The missing dimension of "g ig———
o
329 2cm 1cm
A. 5cm B. 5cm° C. 2cm’ D. 8cm
Complete
330 |Number of cube units of is *»
2 yuuie 204l jwo 2 011-23- 75‘7-939.
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51 Rectangular prism has 2 horizontal layers and each layer has 6 cube units , then its volume =
cube units .
332 Volume of cuboid = % Height
333 |Cuboid of base area 16 cm?and heigh 3 cm , then its volume = —em3
334 Volume of cuboid = x x
335 | Volume of cuboid is 40 cm?, its length 5 cm and width 4 cm, then its height = cm
Converting time ,
T w— 1 hour = 60 minutes
- 2 hours = minutes
A. 90 B. 120 C. 20 D. 130
- 3 hours = minutes
A. 60 B. 72 C. 48 D. 180
238 1% hour = minutes
A. 90 B. 135 C.80 D.75
- 1;- hours = minutes
A. 80 B. 60 C. 120 D. 140
= 1% hour = minutes
A. 90 B. 120 C. 80 D. 150
s 1 minute = seconds
A. 90 B. 20 C. 30 D. 60
. 90 seconds = minutes
3
yl/ % B. 1% C.2 D. 1=
2 4
120 seconds = minutes
343 1 1
A. - B. 2 C.1 D. 2-
150 minutes = hours and minutes
344
A.1,30 B. 1,50 G330 D. 2,30
90 minutes = hours and minutes
345
A.3,30 B. 1,50 C.1,30 D.2,30
S 2% hour = minutes |
A. 120 B. 140 C. 80 D. 135 1 hour = 30 minutes
lday= hours
347 ’
A. 28 B. 48 C.24 D.72
1% day = hours
348 2 3
A.- B. 24 C.36 D.-
3 2
1vyear= months
e A.6 B. 12 C.10 D. 60
150 2 years = months
A. 42 B. 48 C.24 D. 12
2 yuuie 204l jwo 25 011-23- 75‘7-939.
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1
51 15 year = months
A. 18 B. 6 C.24 D. 12
1
—year= months.
352 | 47
A3 B. 4 C.6 D. 12
i 30 months = years + months
A.1,6 B. 2,6 C.1,10 D.2,4
Complete
354 % minute =— seconds
355 | 150 seconds =- minutes
356 (80 minutes= hour
357 7% minutes = minutesand —— seconds
358 6%years = years and ————— months
359 4% hours = - — hours and ————— minutes
360 | 75 seconds = minute
Final revision
A |Choose th@correct answer : o
The mixed number 4 % can be regrouped as
i P B. 3+ c.3% ]
3.1
—_——_=
e 4 4 . 3 1 1
A. % B. 8 C % D. 1:
19 is equivalent to
363 5
3 B. 41 c. 32 D. 34
A3 5 "5 5 5
1 .
— 25 hour = minutes
A. 120 B. 140 C. 80 D. 135
f2—n=>,thenn=—
365 4 b
3 B
A2 B. % C.3 15
3 5
4L 8
A% g "8 '8
Which of the following points located on y-axis ? -
367 .
A. (1,0) B. (051) C. (1,1 D. (3:0) iy
— "
2 yuuie 204l jwo 2 011-23- 757-939.
/ PO Yy : .

|

e

¥

i



o The triangle of side lengths are 5cm s6cm s 7 cmiis called - triangle.
A. Equilateral B. Isosceles C.Scalene
Thecylinderhas — — bases.

369
A. zero B.1 C.2 D.3

3 .
=+ e LN
370 : ° ) “
13 4 2
A== 1 14 = 8
20 B. 1 z C 15 D. 1 4
Thecubehas ——  faces.
371
A 4 B. & C.8 D. 12
1
lf§+a: % sthena=—.
372 1 :
A. > B.5 e 3 D. 2
The measure of each angle in square is
373
A. 45° B. 90° C. 100° D. 180°
374 Hjl
ol o™ 1,1 :
+3 Sois Cst3 D.3+2
%+4=
i [ 5 1
A. T B. vy C. 20 D. 20
Number of faces of cube ( u Number of faces of cuboid.
376
A > B. < C. =
If—l +a= L sthena=
2 8
i I 3 8 1
s B. s C 0 D.1 s
The pentagonhas — sides.

o A3 B. 4 G5 D. 6

90seconds = minutes.

379 1 1] 1]

A. 90 B.1 % C. > D. 3
R 4
Q’
3 27
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The fraction % is equivalentto
4 2

I3 5

380

A. B. €l

L
2

The — isapolygon with 4 sides,

381

A. quadrilateral  B. pentagon C. hexagon

D. square

Which of the following is equal to 4 x 2 %?
B. 4

382

i 4 10
A.82 C.?

D.10

8 £
n X233F

383

B‘I—

16 n
A. m 1 C. 20

2

D.'lﬁ

The triangle whose side lengths are -
384 | A, 7cmsbcems5cm

C.4cmsbecmsbcm

- is an equilateral triangle,
B.5cm,7cm»5cm

D. 8cms8cms3cm

The following table shows the fractions of chicken production for three farms during October:

‘ The farm First Second

Third ]

1

4 2

1

LThe fractions

— ]

385 ,then the representatlon of these data by the ple chartis ———

=

D.

The

A. cone

has five vertices and five faces,
B. cuboid

386
C. square pyramid

D. sphere

5 _
Ifg-—

A. 37

X
——=sthenx=
387 40

B. 25 C. 40

D.5x8

Thespherehas —
A 3 B2

edges.

388
C1

D. zero

If3 % is about &4, then m may be
A 6

389
B. 8

D. 12

5
—_‘I'g

B. equalto

5.5
1=%x=is
390 6 6
A. less than

C. greater than

- {

28
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T 5 1 2
—+3 _—
391 | 3 3y
A < B. = C.>
Which of the following is equivalent to %?
392 1 13 9 5
A 2— = 2 k3
The square pyramid has -triangle faces.
393
A 4 B.5 =57 ) D. 8
104 If 5 |s slightly greater than 5 = »then fmay be .
A. 13 B.7 ES D. 57
The volume of cuboid of dimensions 17 cm » 13 cm and 11 cm equal cm?
395
A. 2341 B. 2431 C. 2314 D. 2341
12+8=1-%
396
A 2 B. 3 C.4 D.5
In the opposite figure , the measure of the central o
2 angle of the colored circular sector equals —— ° 7
71 A, 360 B. 100
C 130 D. 230
1
- = months.
s 5 year
A 3 B. 4 C.6 D. 12
The cuboid has 6 horizontal layers and 2 cube units in each layer s then its
399 |volume=  cubeunits
A 8 B. 12 C.4 D.3
2.3 .8
R =R =
ol 18 ’ 2 13 2
A. 3 B. 9 C 20 0. 17
The iscalled the origin point.
401
A. (1,0) B. (0,1 C. (1,1 D. (0,0)
1 2
402 A
5 1 it L}
A.‘I6 B.65 C.56 D.15
120seconds = minutes
403
A1 B. 2 C.3 D. 4 -
@
29 - - 750=
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Which of the following points located on y-axis ?

404
A. (1,0) B. (0,1 C. (1,1 D. (7,0)
Area of rectangle =
405
A L+W B.LxW CL-W D. [L+W]x2
Zieli el . v
. If 8 cls slightly less than 8 7 »then Cmay be
A7 B. 4 -2 D. 15
1., AP
407 p . :
A. T B. A C. 20 D. 30
The number of thirdsin oneis— z | Pl |
408 1
Al B. 2 el D. 3
51 +2% s estimate as
49| 6 5
A 5+3 B.6+3 CS5+2 D.6+4
The triangle whose side lengthsare —isisosceles triangle.
410
A 4,5,3cm B.4,4,5cm C.3,5,4cm D.2,3,4cm
8 |Complete each of the following
5_33
411 +13 =33,
412 |1 1 X =4
5
In the opposite figure:
413 The fraction of the shaded pie chart = s
. T
414 | 5 R
415 %year: — months.
T I
416 |7 2 X B=
417 |On the grid » the x-coordinate of (5,7)is =
418 | The LCM of the denominators of the fractions% and -%is i
419 | The shape which has 0 faces » 0 edges and 0 verticesis S -
= _
2 yuuie 204l jwo 30 011 - 23 — 757-939
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420 |fx+5%:9%,thenx‘-“

421 |The cuboidﬁ%«?ﬂhas . Efl/j

422 |Height of cuboid = +

mx_s_:
3 10

423

=3
424 =2

%x
¢ -
425 | & - = F——

5
426 | If5+a=10sthena= =

427 Ifz%:%,thenx: N

428 | L x q-=3

2 8

1,,14
420 (2-+2 A G

430 | In AABC ,AB = BC =7cmand AC = 4 cm s then the triangleis —

_]_ ¥ ..3_ e
2 5
432 | Volume of cuboid =

433 3%years =

431

— X height.

years and -~ months

16

434 | Simplest form of —- is

1 oomd
435 15 %25 =

3 =101
#36 |75+ 10,

C |Solving story problems

Fatma feeds her cat—g!- of a kilogram of cat food each day.

437 |How many days will 4 kg of cat food last ?

Jomana likes chocolate. One day she bought a chocolate and
ate%— of itin the morning and % in the evening.

How much part of the chocolate has she eaten ?

438

Hany collected 5 % kilograms of honey. He gave his brother 2 % kilograms of them.
439 | How many kilograms are left ?

5 |

nwmljﬁm 31 011_23_753_93
kfj‘:j % pi . o Wl _."- = s _-.- 'd.'&. g ‘* ',




440

If the price of each book is 10 J’Z LE
Find the price of 8 books.

441

a0
The price of each penis 2 > LE
Find the price of 6 pens.

442

The price of 9 notebooks is 55 L.E. Find the price of each book .

443

Nermin took 2 % hours to paint a tableand 1 %- hours to paint a chair.

How much time did she take inall ?

How many thirds are in the number 7 ?

445

How many fourths in the number3?

446

How many %cup are therein 7 cups of chocolate ?

447

How many sevenths are in the number5?

448

If the price of 9 pens is 77 L.E. Find the price of each pen.

449

f of the teachers staff are male. How many of the staff are female ?

%) [:,'

450

Martin spends % of his money to buy food and % of it to buy toys.
What fraction does the left money represent ?

451

Youssef's dad said he will give him 7% L.E if he works one hour.

How much will he give him for 3 hours and 15 minutes ?

452

Marwan studied math for 2 % hours and science for 90 minutes.
How many hours did Marwan study in all ?

N > ) Jl.ll.l.l.ﬁmlj.l.llm ok
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Ajuice canisin the shape of cuboid » its base is square-shaped of side length 5 cm. and its
heightis10 cm
Calculate the volume of juice can.

453

Ahmed had 10 % L.E.in his pocket and 15% L.E.in his bank.

e How much money did he have ?

Victor has 7 liters of mango juice. If he drinks % Litre of juice each day.

455 How many days will it take him to finish all the juice ?

456 If the price of 8 pencils is 60 pounds. Find the price of each pencil.

Karim walked 2% km and Sameh walked 1 Jgkm more. :’

457 | what distance that Sameh walked ? = F
- v i

A cuboid whose volume is 8000 cm? and the length of its base is 25 cm and the width of
458 | its base is 16 cm Find the height of the cuboid.

Ahouse has a door thatis 1 % m wide and 2% m long.
459 | What is the area of the door in square meters ?

Nagwa bought 2 %— liters of mango juice for 8% L.E.foreach liter.

460 | How much money did she pay ?

Youssef walked 1 %‘ km sAhmed walked % km more than Youssef.
461 | How many km did Ahmed walk ?

Sohila llkes chocolate, One day s she bought a chocolate and ate -- of it. Next day.
462 | she ate of it.Find the fraction of the left part.

The opposite figure shows the percentages of sales

of different types of books. Complete : S
463 | 1. The sales fraction of science books is Ammt

2. Theleast sales fractionisin

-
j i
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464

The following table shows the fractions of the number of hours that
Marwa studied in different subjects in a week.

| subject | Arabic | Maths | science | English |
| L . A
{ Fraction T c 5 0 '

Represent these data by the opposite pie chart.

465

The following table shows the number of students who practice sports.
Represent these data using the pie chart on the opposite figure.

Football Basketball

Number
Lof students 20 L

[ Sport Vaolleyball ]

]

466

An employee Spends his salary as follows.
L.E. 200 for clothes.
L.E. 800 for food.

L.E. 400 for transportation and medicine.

L.E.200 forrenting an apartment.

Graph that data on the opposite pie chart.

(KEps

467

The following table shows the number of students who practice sports.
Represent these data using the pie chart on the opposite figure.

[ Sport Football Basketball | Volleyball l
Number
l of students 20 10 L J

D

468

In the opposite coordinate plane :
1. Graph the figure ABCD where A(2,8),B(3,4),C(854)and D (7,8)

2. What is the length of AD ?

o

|
|___
|

¥

O -~ NWHOOND

B R o e e mat e

@
o) —+—1-

469

a. Plot the points on the coordinate grid. A

A(3,2) B(3,5)

C(5,5) D(6,2)

b. Connect the points in order

What polygon did you create ?

Y

B
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L. Complete, where the unit cube is 1 em?

ac L Humbier of horeontal Ly e, = 2 s
JNumber ol cubesin cach horizontal layers 12 ( A——1-

2
I Volume= 2 b4 12 = 2.4 cm’

b. 1.Number of horizontal Layers : 1-

2 Number or cubes in each horizontal layer 1o e ';ﬁ
5[4]2 2]V ¥

2Volume = 1 X o -= 'io am’

c. 1. Numberof vertical slices . S

2 Numiber of cubes ineach vertical slice "}

i
_1‘ - i
P Volume = 3 X L} = 12 (i ‘ %_

| ; 564, o
d. 1101 Number of vertical < lices 6 N
5 20l 1 .
o Humbor of cubes Ineach vertical Bhee ?__“: il
S Volume = 6 X 5 = 30 o’ 'f}'““"/i ......
5 gt

8 I.NumlmrufIml'll’“llldlli"‘r"""" 3 /4:3‘7

Gk vz v il
2 Number of cubies in e h honzontal layer : 3 . ) | ( { J ......
;. Voluime = .9 X ‘3 - 27 e [ _.-.-' """
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Length: (r i Length: LI
Width: (rn f‘ o o o e Width : crn
Height: €rm | { o Height : crn
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(1) Ajuice Case intWe Shape of caboid. i s base.
s Squdr‘c-S\naPaJ os: Side Lens'tW.Gcm_.anJ...__ -
its \'\ig\\t.is.i'Scm.Ca.lc.mla'tB Tre Volume o it 7 B

V= lxwxh = €x6x15 = 540 Cnt .
B (2) A Swsimming Posl i inThe. Shape o Caboid |
1 |{5 .bds.ﬂ..is..g Flenjtﬁ-GOmanAifswamqom X

F.nJ d!Pﬁ(\mg\n’t) 1F36°00 ms ") F uah«-.,
Cl' [\ 'n't ,\,‘C‘omp\efg\j ? R . R ‘:.,

¥ )
XY i W

: (3) A b-M{l--J ey USeol...io. o brick S. ..(:nr.“. b.\dilo!in ’ UP. _______ ::“
J

awallif .edc.k.br.'_l'ck“\'s,.in..m.,S\-\aPe..aF...cu borel .
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Prother e.xamp.\.e.s“.- .......................................................... il

. ‘//r/:'". o

. Thesales dacimal of French books is o o2

. Thasales decimal of Science bool.s is (‘i— 0.2- 0. 1 025 aeia
J3 ) -0.45) = s

. Théleast sales decimalisin Socm\ Studies

. The ascending order of hooks types according

to the decimals of sales is S.S

Enslisk ’ Freach ) H,{tﬁ:s and .’Sc,ie.nc_e

. Tha opposite figure shows the favorite hobbies for 100 pupils in the fifth primary, ':tudy
" the figure, thenanswer. 22 +254+48 + 20 4+ 15 = {oo _
Scheol

What is tha fraction of the theatre with respect broadcast | Thestre

* s _ 4 L2 | e

to oAl hobines™ I;': - ol

School

5the e broadcast with respect \ press Rangers

. What is the fr. I{tlurg‘:;.th b |:“ [ \ 13/M_M ang
to all hubbies ? e S % N N
Vinat is the meacure 2 of the contral angle of the sector of the music ? '2_. ‘1350

loo
Vihat is the hobb, that the least pupils prefer ? Rangers

Wi, ot is the hobhy that the moe t pupils prefer? .TE-C"ITPC

» o>

o —————— — -
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+ The opposite figure shows the distribution of the natural components of the esrtive
“Uiiace, study the figure, then complete the following table.

. The component_, of rWatcr|11E;al e N
the carth's surface | | supplies Vallies | Hills | Mountalns
The decimal of N i N e
71
theformmg ! O 71. O 13 0.06 O, i o7
3 Wit i i ; G
a. Whatis the component which represents the wmallest
decimal of the earth's surface? 1M “S () Water
(J Hils
b. What is the component which represents the greatest % "’f""”‘"" ;
. ; Mountains
~_decimalofthe earth's suiface?  watey
4. The following table shows the number of students who practice sports. S——

54
Represent these data using the pie chart on the apposite figure. A \
Sport Foutball Basketball Volleyball Hil
e /
Number 26 0 \
of students L 1o
e ~

.......................................

- 6. WhenSome students weruskceiabouthe.mosipopuhr‘l“v'msmms,
fihe following data utere extracted

e stugents e o *'::‘Jpar‘ts:'n;:'?“:s. /ﬁﬂh R .
AT e ot | e -Arabicanl‘Fore‘ngnmw'ces. \

s
emn ETUL S OS UKE IC vraich news.
e ) | ,_ S

a. Refmgse at giver d2iz LSIng tne onPosita pie char,

o]t cof v 2|1 pojen

b. the numberofall students was Y -+ ciznis,
whatisthe numberof studertswhe preferwatching each type oFprigrarms

XXXXXX XXX XXX X XXX X

.................................................

e e N T e s S ——
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6. T

Shows the fractions of the number of
hours that mar wa studied in differan

) "r_;"'_',';inl_w table

t subjects in a weelk.

ubject | Arabic Maths

science | English |

‘ Fraction L 2 _- 3
EIERRRES

n2oresent these data Dy the opposite pie chart,

7- For each task, select the circutar degrees that match the fraction of the circle

that is shaded. (A circle has 300 degrees).

b c.
E ; l

A. 1807 B, 70" LA, b0° B.
C. 12@° D. 4%° C. 60°

o,

Q.

B. 27G°
D. 120°

8’- The follow g table shows, the fractions of chicken production for three tarm- during

ctober The farm First Sucony Third

. 1

The fractions "‘2"'

then the repiosentgon ol these data by the pie chart s
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